N
ey

ﬁ (Fr=fn Objective
71? s / (mfuﬂu” V/!‘f:{ Paper Code

P FRD-1-28 10348 e 15i 7835

A Lo na S u:/bi:c._:.::_l,«édtr/-/céb’du’ -u}éc.u DsCBA u&li’jkﬁdb’/ Ay
..b:-u"bﬂ».;b.ufjg,!'-'uxr'g(z..f}fuﬂL/)fuulmkxc.,uﬁ _éj/awgﬁtﬁ/lx»’v’

| b C B l A Questions / =iy
l ! ey i | TH n
i :/)Idj L B | e s_..t‘ll{;/y /,-d‘y NP~} 7! M!J.& “é.;/ if 1 l
% ’ - | An “if” statement inside another *if :»mtcmc:nt g
lDLLOHlpOSLd Repeated Boxed | Nested s called structure. n
* 6 | 4 3 " 1ot J..r...:lJ;fmty* 14 %3 \ 9 1[
| | , ! - \’ha( is output of the code? inty =14%3 ; ; j
; 1 l > ( = , / é r.-nhc.-../f; ,l," 3 1
' | - { l ! Which operator has highest precedence?
g l l ‘ ﬁl/bj)f[/!/!r;ﬁ,.y&.aJL‘""&r'/f’a 9457, J/r'f } ‘!
i i |
| B 1 .f"t{ . " ] b «-rb:-"dt‘-"&u—/ww/o/b’ | & |
Benbareattone O _—— B 1 Afeesiisid are added in the-source code to further
| Explanations| Comments @ Hints hessig;08 explain the technigues and algorithins used by 1 ‘
the programmer. _—
- P 4 |
cL/I/':-\J?c’._,)f f"v‘Jl,: Gu [ -c,J'Z,:C‘uL"}‘uf j
' o ! o . ¥ !
P eelBle | e N :"u..«’;'fsf; et o nix .k&&,u)’r’u, 1
| Semantic | Building Svntax Programing | Every pi o?mmmé, language has sonie primitive t
| rules blocks Sy riles  fbuilding blocks and folloss some grammar rules \
ﬁ “known as its: .
v . vy ) LB s e \ !
fJ | ﬁ'/-dj uﬁt}.j u@b/ ek / ST sy =l = ‘
- A . o mmm. to transter the control to .umlhc !
Including | Re-writing | Defining Calling  function. ’ "
u“ﬁ:fﬂ el 0y SH o char™ Lo CJ' chared () { retuen o’ ‘ 9 |
i Arg[nncnts ‘vArrﬂy Return type BOd)'" ‘ (,hdf Cd ( ) \it.tum ‘' } In this function “char™ is: Il ]
: s i - 5 i i }
! J/JL” w.’//!}?f‘ U’jt i \',2/:‘( ! —-1—-‘:‘5‘-— —r” at? e bv” For !\ 8 :
{ncrement/ |, oo : vt | '
; 1 Ce rart ot for loop is exceuted first. ;
. _decrement Initialization]  Body Condition | P4 ! ‘ :
i h i
4 H . ! s _,___ et Y “"Q )} h___ 7 {
. nested | do-while :  while for Pl sy T LA U
| | | Using !Oup:: inside loops is called loops.
] ‘?u-“:'f-“-;-—"uu ity =7 +37(1282), | {
| a4 45 : 47 49 What is output of the code? L 18
L L. Lo intx=7+3*(12+2); .
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Write short answers to any FOUR parts.

Define IDE!
What is the purpose of compiler?
Define reserved words.
Define statement terminator,
What do you know about scanf{ ) function?
What is the output of following code?
void main ()

intx=12 \—'3.2*2,:\1\5;
dns—\u"‘
grmti‘(“% ans);

Write short answers to any FOUR parts.

Draw {low chart of if statement.
What is meant by sequential control?
What is meant by data structure?
Tow elements of array are accessed?
Find crrors in following code:

inta<35;

IF(a<5)

printf ( “Success” } ;
Determine output of following code:

inta=8,b=

a=a+h;

if(a> b&&bx 15)

printf (“a=%d,b=%d ", a,b);

‘Write short answers to any FOUR parts.

Is loop a data structure? Justify your answer.

Identify the errors in the following code segment:

for(inta=0,a<1000,a++)
print (“%d ", a);

Write general structure of function signature.

How complexity of problem can be reduce using function?

ez B Lk 2
Ay JADE O
te s Y GD
< J/"JBW!JJ Gii)
c’!u’/’d’ S e (iv)
v iutz.,/Lﬁu’G scanf()  (v)
J lf o J):(J,Jz,u (i)

void main ()

intx = !2.*)'=3,2ﬂ2 , ans ;
ms=x/z%y;
Yrimf( “%d ", ans )
Aoz B Lt §S
e bor VA ()
?.:.'_)l/\_r(‘:.g,lﬁ/‘jy:.;‘ G
\‘.?__-t/y/c_,ﬁ.’j)'i‘r,i (i)
Y‘,‘:,&l:vd’fb JJV/JU%’ALQ-A (iv)
JL"‘/)/' 947 J)Vu (v)

mta<y;
IF(a<5)
printf ( “Success™ ) ;
sk s FeendT B Ssts (Vi)
inta=8§,b=8;
d~d+b

1f(a>15&&b<15)
printf(*a=%d. b=%d",a.b);

z-_@'uw'ﬁ’ L,uubc.-éf 4
f

IR L uﬂs,‘-u:"’ ’:(,,» :( (i)
tor(xm'xw() a<1000,a++)
print (“%d ", a):

AT %ﬁﬁ' i)

qf ‘!

P NI TP Y ,.,,,-J‘.t.: f.fduwfu- (iv)

<ty ,-u,.,d/..,.../...u:umfuv,u;f“ 1k nead C‘ %)

Write function signature that take three integers as input and return the largest value among tlu.m
Function signature is compulsory or optional. Discuss, “ié.-? oy Lwd;:/t/ J\zu.‘.(tfu f*" u_b (vi)

-u?/" 08 ley o -"//ull?valy::..-:,d:(c(»,.&?
Part - 11, Attempt any TWO questions. Each question carries 08 marks,

gesbfestdpSi, C 5
i TSt PSSR 6
Define logical operators and explain the types of logical operators.

-4../‘1.// BILAL AéLP;:..vrl ,r\_fb;.,rz..,/uhw"lfu:’ for u"@p-C =g
Wrile a program using for loop in C-language that print BILAL five times on the screen.
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Explain the structure of a C-program.
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-b;u:“-’wui.?uf,bwuzr'(,(i._/) wb’ti./{fu:/lm&)c.uﬂ -é:/c.gﬁg/;tfuﬂ),d»' i

- N S - e T N !
t_‘m_ D C ! B 1 A | Qucshnm ! ey inﬂl ;
- »
A4 M o= mp ¢ AL RIREN I S CVIINES
1.oader Edi’(‘or [)cl)“uu‘vr C \“"plk.l converis souree pr(!t_:mm o nlﬂch"lh‘ 1
Sl fal ‘,
B N IR N
. k - N N 4" PO '3
* I * P e dn e ol s S0 ST
: _ ‘ svinbol is used for single line comment.,
» o P - ¥ -
20 [0 | - 0 C s egesid pnmt e %d",10=-10) = 4
- Output of primf (" %d ™10 == 107 is
- y s el r st S a7
a0 SoAl sl e Ca N IS cUeewh ()
. Characier Character
ary e L uLh hxm!mn is used for:
Header lx)_c Library ouput  input ® ( )
e & 6 oy o ro, 2 it 1 :._..:.fc._. b~ e else
A [BLRe " 5
- o , Ty ( < (t‘ydﬁer else statement will be executed
Dlvl_t’cxrcm ) Sll_t\ll.\x N Lo Tive ,..\..!.'."3&_&.11 condition is: o
o . N L g et it p = 21 L
xl(p%}='0) n(p%s~=0) u(;m---~<)) (e ==0), riarastE ol Latisin St g
Afintp= 21 0 which statement will be true?
e Sk AT e e Erdiis oL d W e R
. ) \m\\ datn  ____ isaunique identifier used to refer 1o an
Array name Array size Ay indes fype array.
.; ORI 5 .;"'-C
5 % 4 o """'v” Wertemo 7 o R
i _ C-language prov ides —_npesof loops.,
b - - R
a0 2o 2 3w > at o af
iE J"-f‘ vartd V’"’P i u-\-‘!" RIS &~ 9
Numbers  Comments  Arguments  Statements ; The values passed 1o a function are \.mcd
Y Q“"‘..‘.u ,,[-:'9;.(,.'53 .A".l;'( Y h:‘...ra'éb.:.., ]‘&"U ety 10

(..odmgv Reasability - Lxecuting L‘umpiling “The advantage of using tunctions are:

/o
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N FEP~2-2Y (Part~1
N 08 Write short answers to any FOUR parts. -t‘—gvl"f/‘; Lz ul,,:_,éf
:_ What is meant by computer programing? SC-)'/L(C-W‘/'V /z.‘%{ (W
. Detine syntax, -wvyf‘,’gfu&uw (i)
'b Why do we use comments in programing? eyl s b/ 34 (i)
Write the output of following code: 1 F i T Lita (V)
il =3 =% F (IR T ) iMx=34-0%2/(2%2):
printf (“%d ", x ) printf (" %d ™, x )
What do you know about scan{{ ) function? ‘wc.buulun.a./t&:gfoswnf() )
What is the difference between = = and = operator? ?‘..a/vfw/ﬂ = == (vi)
i 08  Write short answers to any FOUR parts, -Ju'g‘-?/‘; Loz ’/cliﬁ—lj’r =3
! How does selection control statement work? fe e Qped i s, D
'(D Identify errars in the following code: Syt 3 L3 (D)
! IH*(\‘—IO) E*l*(\“—-l )3
('i'l\ Printf (* Hello o ) Printf (** Hello ” )
,\\L Write the output of the following cade: 2ecedi G e (i)
NS inf marks = 65 ; intmarks = 65 ;
- if (marks > =33 ) |t(mdrks >=33) ,
('\" printf (* You are Pass ") ; printf (* You are Pass ™ ) :
c else ) clse
. printf (** You are Fail ™) ; primtf (* Youare Fail ™)
. What is compound statement or block? e by S Gv)
.Xb Define array declaration. LE IR A ()
: How does an array differ from simple variable? ....u-’u‘c_:_ P (Vi)
A 08 Write short answers to any FOUR parts. »Jw“l’/ﬁ Loz ’IGGJJ/ -+
:' What are functions? L - )
: What is meant by function calling? e o N._..mu 26 Gi)
: What is meant by function value return? Toos r& A x‘~’v"f’ (i)
i Write names of functions types. 'u.,(u'd (25 (iv)
%a Trace error from the following code: .;:: e S (V)
: for(intn=1l:n<=5;n+++) for (intn=1:1 “b.n***)
N Trace the autput of the following code: “J sifoedl Gt (i)
3\@, sum=0; . sum=0; )
& for(1=10;i<=10;i++) for(i=10.1<=10:i++)
= { , '
P sum = sum i ; Sum =sum + i3
gmntf (“%d™,sum): Yrimi‘( “%d™,sum);
. - < LA
A 08 L Jlr/;-,f_:{fc&@f.v’:[..:;!}lrnc_.d:(r(»..ﬁ"
Part - 11, Attempt any TWO questions. Each question carries 08 marks.
02,02,02,02 e ISR 2 S p e A3 A S

What is meant by data type of variable? Describe the types of variable data type?
-.;..»L»J e fc’wﬁ’ febu kf e 6
What is statement terminator? Explain the escap sequence in detail.

*c../w/)'x’g)ws-{ 19¢1 bf@/dl.w'l: w” for :’é_’,(l/ 31\...f\ "
Write a program using for loop to print odd numbers from 1 to 19,
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